4

U141 :
S=TriTeq Vending Products Jan 2024
Item # Description Qty
BeviQ H BevlQ T-Handle Lock Kit with housing
12894-S (includes: 12868, 12870, 12888, 12890, 11344, 12923,
12926, 12094, 11837 )
BevIQ Lock Parts
12868 BevliQ Housing 1
12870 BevlQ T-Handle 1
12888 BevliQ Motor Assembly 1
12890 IQ CPU 1
(12890-00-00) SnacklQ & BeviQ only
11344 IR Receiver 1

Page 1



12923-10

Latch Harness

12926-01 Power Harness 1

11128%974\,[::?0 Receiver Bracket 1
12910 1Q Motor Set Screw 25
13436 Backup Power Phone Jack Washer 25

12972 Hex tool for VendIQ locks 1

Page 2



13435

Backup Power Phone Jack Nut

25

13297

SnacklQ
12889-S

BevlQ Offset Plate
(for Marketing Doors Coca-Cola)

SnacklQ T-Handle Lock Kit
(includes: 12817, 12865, 12888, 12890, 11344, 12923)

SnacklQ - Lock Parts

12817 SnacklQ Housing 1
12865 SnacklQ T-Handle 1
12888 SnacklQ Latch Module 1

Page 3



1Q CPU

12890 SnacklQ & Bev 1Q only
11344 IR Receiver
12923-00 Latch Harness
12926-11 Power Harness
Tt Sneckid et
12972 Hex tool for VendIQ locks
1111%974\;:::3: Receiver Bracket

Page 4



-:?sn;? TronlQ T-Handle Lock Kit for Crane Snacktron
TronlQ Lock Parts
12998 AC to DC converter L —
12840 DC Power Harness M
FreshlQ 21xC Single Door Cooler Lock Kit

BevAir - 21BC ProCool - 21PC
Habco - 21HC QBD -21QC
Imbera - 211C True - 21TC
Liebherr - 21LC FrigoGlass - 21GC

21xC Minus Forty 21FC Pepsi PC8(QBD) - 21WC
Royal - 21RC IDW -21DC
PPG CoolBlu - 21CC FrigoAir - 21AC
NormTech - 21NC MVP - 21VC
Ojada - 21JC Everest - 21EC
MetalFrio 21BC

FreshlQ 21xF Single Door Freezer Lock Kit

Habco - 21HF QBD - 21QF

21xF Imbera and IDW - 21IF True - 21TF
Liebherr - 21LF Mimet-21MF
Minus Forty 21FF FrigoGlass - 21GF
Royal - 21RF Norm Tech - 21NF

Page 5



22xC

22xF

WF2149

FreshlQ 22xC Double Hinged Door

Cooler Lock Kit
Imbera - 22IC True - 22TC
Habco - 22HC FrigoGlass - 22GC
QBD - 22QC True GDM35LD/T-35G- 22MC

FreshlQ 22xF Double Hinged Door
Freezer Lock Kit

True - 22TF Imbera - 22IF
Bev Air - 22BF

FreshlQ Access Point

21WM-D

FreshTraq Wi-Fi module
Normally unlocked with Fault Monitoring
Default SSID and password
(Serial number: ZAAXxxxxxX)

21WM-C

FreshTraq Wi-Fi module
Normally unlocked with Fault Monitoring
Custom SSID and password
(Serial number: ZABxxxxxx)

21EM

FreshTraq Ethernet Module
Normally unlocked with Fault Monitoring
(Serial number: ZAExxxxxx)

Page 6



CT-D

ColdTraq Wi-Fi module
( includes: temperature probe and power supply )
Stand-alone temperature monitoring module,
that can be placed anywhere in the cold chain.
Default SSID and password
(Serial number: ZTAxxxxxx)

Wi

Mlodule

CT-C

ColdTraq Wi-Fi module
(includes: temperature probe and power supply )
Stand-alone temperature monitoring modaule,
that can be placed anywhere in the cold chain.
Custom SSID and password
(Serial number: ZTBxxxxxx)

WhFi
Trag
Module

CT-E

ColdTraq Ethernet Module
(includes: temperature probe and power supply )
Stand-alone temperature monitoring modaule,
that can be placed anywhere in the cold chain.
(Serial number: ZTExxxxxx)

21WMPX-D

FreshPay (Payment Ready ) Wi-Fi module
Normally locked without Fault Monitoring
Default SSID and password
(Serial number: ZCAXxxxxx)

21WMPX-C

FreshPay (Payment Ready ) Wi-Fi module
Normally locked without Fault Monitoring
Custom SSID and password
(Serial number: ZCBxxxxxx)

21WMPF-D

FreshPay (Payment Ready ) Wi-Fi module
Normally locked with Fault Monitoring
Default SSID and Password
(Serial number: ZBAXxxxxx)

21WMPF-C

FreshPay (Payment Ready ) Wi-Fi module
Normally locked with Fault Monitoring
Custom SSID and Password
(Serial number: ZBBxxxxxx)

Page 7



FCP-D

FreshConnect WiFi Module Kit for Performax
Coolers. Default SSID and password
(Serial number: ZP AXxXXXXXX)
Includes: Temperature probe, cable cover and Hardware
13876-10-00

FCP-C

FreshConnect WiFi Module Kit for Performax
Coolers. Custom SSID and password
(Serial number: ZPBxxxXxXXXXX)
Includes: Temperature probe, cable cover and Hardware
13876-11-00

FCV-D

FreshConnect WiFi Module Kit for Vision Coolers.
Default SSID and password
(Serial Number: ZVAXXXXXXXXX)
Includes: Temperature probe, cable cover and Hardware
13908-10-00

FCV-C

FreshConnect WiFi Module Kit for Vision Coolers.
Custom SSID and password
(Serial Number: ZVBXXXXXXXXXX)
Includes: Temperature probe, cable cover and Hardware
13908-11-00

FreshTraq

FreshTraq remote monitoring subscription
loT, cloud database, web app
(available from desktop, tablet and smart phone)

12

FreshPay

FreshPay Remote Unlocking
via Payment APl and Monitoring Subscription

12

Fres;;—ab
=

13453-10

WiFi / Ethernet module interface cable

= —

Page 8



FreshlQ Lock Parts

210CR FreshlQ Cooler Lock Module
210FR FreshlQ Freezer Lock Module
FreshlQ Double Hinged Door Cooler Lock Module
220CR (Imbera, FrigoGlass, QBD)
(MOUNTING BRACKET SOLD SEPARATELY)
FreshlQ Habco / True Double Hinged Door
22HCR Cooler Lock Module
(MOUNTING BRACKET SOLD SEPARATELY)
22TBFR FreshlQ True/Bev Air Double Hinge Door Freezer Lock
Module
13362-00 Standard Temperature Probe
21xx, 22xx

Page 9



13362-01

Optional ribbon temperature Probe

21xx, 22xx
e ik
13387-10 Offset Plates
21xx
1283 (part of lock kit LG or 21LF)
13364 (part of Il\:ci:rlr(‘ititBZr'la l\(:II::e:)r 21MF)
13423-10 QBD Bracket

(part of lock kit 21QC or 21QF)

Page 10



Single Door Bracket Kit 21xx

13658 Habco, Imbera, Minus Forty, ProCool, True, Royal,
FrigoGlass
13560 Double Door Bracket Set
(part of lock kit 22IC Imbera, 22GC FrigoGlass, QBD)
¥ N
13639 Habco Double Door Bracket Set
(part of Habco lock kit 22HC and QBD CD47-HC)
13853 True Double Door Bracket Set
(part of True lock kit 22TC and 22MC)
¥ N
Mounting Plate with hardware
13561 (part of lock kit 220C: Imbera, FrigoGlass, QBD,
True22MC and others)
13640 Habco Mounting Plate with hardware
(part of lock kit 22HC: Habco)
13856 True Mounting Plate with hardware M

(part of lock kit 22TC: True)

Page 11



13386 Rivet Nut Install Tool 1

13391-10-16 Screw # 10-32. 15

13385 Rivet Nuts 15 ,:\? i
) &

13612 Drilling Template 1

P1 P1 Factory Key 1
13011 9V Rechargeable Battery 1 % TSEDNC E%%Yi;
13388 Silicone Sealant (food grade) 1

Page 12



12994

Model 21xx
Internal Emergency Access Kit

 PUSH

TO
UNLOCK

13517

Model 22xx
Internal Emergency Access Plate

=

12934

VH717JTR

CL100 Replacement Cooler Lock

Vendo Retro-fit Lock Kit for Landscape and Magnum
Vendors
(includes: 10288, 10601, 10873, 10874, 11324, 11518,
12527)

12664

DRH717JTR

Vendo Retro-fit Lock Kit for Landscape and Magnum
Vendors. (Includes; Coin Return Mech, T-Handle and T-
Handle Housing Replacement)

Dixie-Narco/Royal Retro-fit Lock Kit for Landscape,
Magnum Vendors, and Camillion Vendors
(Includes: 10434, 10601, 10874, 11324, 11518, 12527)

12663

Dixie-Narco/Royal Retro-fit Lock Kit for Landscape and
Magnum Vendors (Includes; T-Handle and
T-Handle Housing Replacement)

Page 13



13017-00-00 Royal Glass front RVV500 Lock Assembly for Coca- 1
Cola
Retro-Fit and RV500 Parts
Pepsi/Coke
CPUT17 Retrofit style Circuit Board 1
12527 T-Handle IR Assembly 1
3 bolt Dixie (old) and Royal Receptacle

10434FS Retrofit Lock Only !
10288G 4 bolt Vendo Receptacle 1 7 V;/’”

13047 RV500 Bayonet Assembly 1

13049 RV500 Receptacle 1

Page 14



12662 Retro-Fit Bayonet Assembly 1 9% | .h“

10481 Spacer for Retro Lock 1
TH700 .

12674 Housing for Retro Lock
RVR500 Royal Glass front Installation Tool Set 1

13318 BevMax Media Lock Assembly 1

BevMax Media 5800 Parts

BV2RJST Receiver for Bev Max 2 Dixie GFV JST Connector 1

BV2CBRJ Bev Max Circuit Board w/JST Connector 1

Page 15



12114-00-16

Base Plate

-«
11523-10-00 Twin Switch Assembly 1
11275-00-16 Actuator Arm 1 C
12032-10-00 Cotter Pin 25 ﬁ
12368-00-00 #6 Screw 1/2" Hi-Low (small) 25 m{@ /
B b,
11012-01-00 #10-24 Flat Thread Cutting Screw (big) 50 @ Sy

Page 16



DNGF828 Dixie-Narco Glass Front Bev Max 2, 3, 4
Dixie Bev-Max Glass Front parts
BV2RJST Receiver for Bev Max 2 Dixie GFV JST Connector
BV2CBRJ Bev Max Circuit Board w/JST Connector
10304-00-00 Motor and Gear Assembly -
DGF-DGA Drive Gears and Cams Assembly .
12114-00-16 Base Plate

Page 17



11523-00-00 Twin Switch Assembly - Dixie 1

11275-00-16 Actuator Arm 1

12032-10-00 Cotter Pin 25 ﬁ
12368-00-00 #6 Screw 1/2" Hi-Low (small) 25 mig‘
11012-01-00 #10-24 Flat Thread Cutting Screw (big) 50 —;};} ;'-WIWW

Page 18



VGF818 Vendo Vue Glass Front Lock Assembly
Vendo-Vue Glass Front parts
CPU707 Vendo Vue style Circuit Board
10304-00-00 Motor and Gear Assembly
VGF-DGA Drive Gear Assembly
10952-00-01 Base Plate -
10828-00-00 Twin Switch Assembly - Vendo

Page 19



HVV700 -Vendo

HVV900 - Royal

Vendo HVV Lock Assembly

Royal HVV Lock Assembly

11363-00-16 Actuator Arm 1

12032-10-00 Cotter Pin 25 ﬁ

10263-00-00 #10-24 Pan Head Phillips 1/2" 50 M}
HVV800 - Dixie Dixie Narco HVV Lock Assembly 1 l

T || -

Page 20



HVV - Lock Parts

LP017 Light Pipe 12 button Dixie and Vendo 1 -

LP018 Light Pipe 12 button Royal 1 m

LP020 Light Pipe 6 button Dixie 1 i A“J
VvVBD717 Flicker decal 10
CPU707 HVV Lock Control Board 1
DRV717 3 bolt Dixie (old) and Royal Receptacle 1

HVV Lock

Page 21



s%ﬁg: ! Receptacle switch only
VRV717 4 bolt V:csllol_iiﬁeptacle
DRP717 Dixie-NarcoHF:;s\?iiliT( Receptacle
10307-00-00C Bayonet Assembly ,ﬁ h

10304-00-00

Motor and Gear Assembly

10305-00-00B

Assembly Twin Switches - HVV

Page 22



12630

Slim Line Lock Kit (Includes: Bracket Assembly 12626,
IRDA Receiver 11344, CPU 11518, Motor Harness 12599)

KFA43R

General Parts and Accessories

AutoTraq Route Key

KFA43Z AutoTraq Zone Key
KFA43Z-R AutoTraq Zone Key
KF23R Standard Route Key

Page 23



KF23Z

Standard Zone Key

KF23Z-R

KF3

Standard Zone Key

Economy Key

P1 P1 Factory Key 1
Key Fob Parts
KFS717 Special Anti Tamper Screw 25 "gm
CR2032 Battery For Key Fob 10

Page 24



KFSD717 Special Anti-Tamper Screw Driver Bit 1 m
KFK717 Keypad Fob 5 e
KFBTC717 Case Top (Black) Fob 10314-10-00D 5
KFATC717 Case Top (Blue) Fob 5
KFATC717-R Case Top (Red) Fob 5
10323-00-00 #2 Phillips Screw 50
10324-10-00 #6 Small PAN Head Phillips Screw 25 gj

Page 25



SAAT7478Q

Software per seat AutoTraq. Net SQL 3.0

TTDBHOSTxx Database Hosting and Maintenance Service DATABASE
UPGRD AutoTraq Software Upgrade
ATTS Software Technical Support

CuUC717

CuUC718

Cradle USB

6 ft USB Cable

Page 26



VR717

BP717

Lock Reader Tool

Battery Pack for all locks

SK717N

MS717

MM717

Nut mount. Power connector pack 50

Small Mobile Electronic Vault

Medium Mobile Electronic Vault

Page 27



HVV Full Vandal Panel -
( Center Column))

VPHVVFL 1

Vendo/Mars: 146564 Dixie/Conlux: 150563
Dixie/Mars ADA: 12907

L \
\

RLPC Motor cover for VH717 and DRH717 locks 1

ADP-D Anti-Drill Panel Dixie-Narco HVV 1

ADP-V Anti-Drill Panel Vendo HVV 1

LCD12 Hard Steel Lock Cover Dixie-Narco/Royal 1

Page 28



LCDV12

Hard Steel Cover Vendo

Emergency Service Tools

EMO007 HVV Emergency Opening Kit 1
EMO009 Vendo Vue Emergency Opening Kit 1
EMO011 Emergency Opening Kit Retro Fit & BevMax GFV 1
EMVIQ Emergency Opening Kit BevlQ / SnacklQ 1
EMCVR Cover and bolt kit for Retro Fit drilled E-hole 1
12493 Insert + Roll Pin 10

Page 29



10481

13314-10-00

13314-00-00

Spacer for Retro Lock

User Key Fob

Compatible with MicrolQ lock models: UT, CT, ST, UM,
CM, SM

Control Key Fob

Compatible with MicrolQ lock models: UT, CT, ST, UM,
CM, SM

Page 30



